1 3 4 5 6 7 8
150
/M oo1]A]
[ o GIBE AL 5/ 7T £ b
7
= = s 1
______ @ Y T |
L2 7 j Y
““““ T
J ~ GUEAEAIE]
0.002 | A
19
n 0
509
Ak
#i 15000 42000 rimin
hE 17 17 kW
T 51 [s640%2Min|  S1 [S6.40%.2Min
s 175 184 350 350 |V
Bk 67 83 43 a7 |A
i 500 500 1400 1400 |Hz
T BEEELHHE AT5ERR KR L ae | 108 | 134 39 48 [Nm
1| B |7]E#E 1 1] #Apmi00 | 7] 1040VDC [13] - LR X 10.3 Vrpm/krpm
o A 9 % F = y
Fé ks A IONE 3| Bt oaozgm 2wz [ 8] 2722 [ zmpmon %iﬂﬁl bal e HSKE2EAD
Rt GI8  |E#X %% P6id, #A, 1 Sbar %03 «%’??z 2 i wg{’ggf sl — 9] o |5 &mmm KT TEAH G Ed S, A Tbar
{ g o ShE ; i Lk
P2 |A%H#D G1/8 [E&k %% P6X4, lbar oo 4 0l o 00 /[ 1030v0c Tol 10-30v0c 115 BhE "ﬂ’%ﬁﬁ it : j’i%ﬁ” 1 R
) L a o \ R i, A7 /E80bar, #1713 10bar
W3 | #k G1/8 | E&k, HE O8K6, 544 5 nl . 51 a7 (1 &n |11 — P SREEL EAL AT
5 ST e Ny ® 5 . ARANY - o
T4 W&Nﬁ/ﬁﬂj G1/8 /@E\Eé 8\Pa, %J\Jé E\%&ﬁ{ﬁ#\}ﬂﬁ(%» ﬂ’l]:/&)ﬂﬁﬁ 6 12 +5V 6 OV 12 OV %@]%% 128%E%§-\£%@]%§, 1Vpp
W5 | Ek G1/8 BEL 0T 08%6, THAH 3 A A0b 7 251 /ming25'C
E6 |%=BE6E M23 RERIAE | 00 LHAE !
G8 |[## M8 s AH () BH() | # # i # il g K % i3
HAND @E\Q\, G 6X4,—\IL ,1.5b R imm N . \
A9 Jé’\)\\ ___ G1/8 %%ﬁm\@\ M\M\D ar __ _ =TT GBS ’20XDJ42 17/HE32
TS0 |4 TPEEGSEE | M3 |PPABEFABIARTES, BALEEEPTIO0, RAZEPTI0 ST [ 6 ]:005 Ay AR A F Q
Xt |4 %0 G4 |Ra% HE g6 NS S eh ik R EAD - —
T2 | 1ExEEA Gl8_ |AE0.0Pe, BAERERRNE, ELEARS A2 T ik T AR - » ‘i‘ 2
P13 |74 M20X15 |0, 16w 2252 % n C7 |Fn Gld  |EES, HERRONG FERAEAL AP 250 | 500 | £0.35 RERTE 19 !
A t YLK
P4 724 M20X15 |V, 16w 22 5 4%: UM6 | B 5/ A [GUB | BAdmAlE ATobar, BAK S i ASba (B T1%) AR —
P15 |ZA k4 M20X1.5 [#W, 16nm 22 5 4 L17 | #& M7X1 ko 1600[2000] +0.65 | E#% | 4% i H £
1 3 3 5 b 7 A2




